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Ol SAEES 95,042 46,990 48,052
< 16,800
Al 78,242
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-SolOMES2 ZE Q9 WA
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= _ — d =
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101 124 dl 28,382 0 28,382
4 D12t Z2XREES 28,382 0 28,382
ST O L LAY oA
45,0003 «4H «752 13,500
OZBJLANEZAE 22X 212l
40,0003 «4H 752 12,000
O4E2d JI2=RE= 25,500,000 *11.3% 2,882
201 Let24d] 1,200 0 1,200
01 At 2teltl 1,200 0 1,200
O1.det=2Hl 1,200
~QOIAGIAAY ARE
120,000 *4J & %2 5 1,200
HdIIAsx 28 & 25 2,190,400 0 2,190,400
= 460,000
< 208,000
Al 1,522,400
HdIIXsA B2 1,300,000 0 1,300,000
402 RI2EX20| N 1,300,000 0 1,300,000
02 BI2HCH & A& HI 1,300,000 0 1,300,000
OHEZI XIS nEE FMIHAANAE 2 (HI]
HA, HiEHe2l S) 1,300,000,000& 14 1,300,000
HMIXER ES(EX) 890,400 0 890,400
= 460,000
< 208,000
Al 222,400
402 RIZ2HXt20l M 176,000 0 176,000
= 120,000
< 28,000
Al 28,000
01 22X 2E X 176,000 0 176,000
OFSPIPNESP = 22,000,000 =8CH 176,000
= 120,000
< 28,000
Al 28,000
403 MtXSHHSA=0l& 160,000 0 160,000
= 160,000
02 3|25 0l CH Sk CH 2 At & HI 160,000 0 160,000
OsdolZet 25| 8,000, 000& *207| 160,000
= 160,000
405 TtHebF S| 554,400 0 554,400
= 180,000
< 180,000
Al 194,400
01 AL EFH S 554,400 0 554,400
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OFSIIPNE=DN; 46,200,000& = 12CH 554,400
= 180,000
< 180,000
Al 194,400
2d 24,274 21,300 2,974
229 ZX 24,274 21,300 2,974
201 et 9,634 9,860 A 226
01 At 22l 9,040 9,536 A 496
O1.dpt=ZH 4,500
-QH =22l =l 4,000,000 4,000
RH4+2Y 2A 222
10,000 x5 A %103l 500
O4.1l =t 1,520
~AEQHA =E 920
2H = 130,000& 4 H 520
2t Xl st 100,000& 4 H 400
RS2 MDD 2H FH P 150,000 »4H 600
O5.2 &l 2,520
—oa U & ADFE 2 A
7,000 <3102 «12& 2,520
06.9xt= 500
-+E2Y ADME HH LYRHSHI)
500,000& x 13l 500
02 =224l 594 324 270
O1.2283 594
S EQEAD 22 2s 2WRI
270 x2,200% 594
202 O4dl 5,640 7,440 A 1,800
01 = LH 4 Hi 5,640 7,440 A 1,800
O2m =22l (=]
60,0003 *3H +x32 +63] 3,240
Oxs+d & Z A2 gl bl
60,000 x2& x22 «103] 2,400
206 M= Hl 4,000 4,000 0
01 M= 4l 4,000 4,000 0
O+ At el ZMEH 7¢
4,000,000 4,000
405 XtabFE SHI 5,000 0 5,000
01 XA =S FH St 5,000 0 5,000
o0 &I 3,000,000& 3,000
OPH &I 2,000,000 2,000
Hztel 2,424,320 253,954 2,170,366
= 1,160,000




2N
X ZH -
L= B

el

4 = e
= 9 0

M e o

o oY 0z
&2

foi
e

oY
HE
o
o
0

H

fol
e
T

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %Eﬁ HRE2
[ 358,782
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ZONSALS 21,980 28,294 NG,314
201 2Et24Hy| 17,420 21,294 N3,874
01 AP 22| d| 17,420 21,294 N3,874
O1.298t=2H| 14,900
-} &2 =2t 4.,500,000& 4,500
-ol& &= L& AHA =2 (s =HQ)
700,000 x12& 8,400
BEA AU 222(LST +H)
50,0002 *403] 2,000
O5.2 2l 2,520
~A B Y EF OA2LN A
7,000 *3H x10L x12€ 2,520
202 044l 4,560 3,600 960
01 240l bl 4,560 3,600 960
Oxzel A2XZ0iH|
60,000 2% 32 x63| 2,160
Oodtd 4 =ZHAHESZEH) odl
60,000 *403] 2,400
=S X AHEEE 22 6,500 9,500 A 3,000
201 gEt24A Y| 3,500 6,500 A 3,000
01 AP 22| d| 3,500 6,500 A 3,000
O4.1]1 24| 1,500
-=Z3 100,000 x5 H 500
-=E= 200,000& x5 1,000
O6.¢ X2 2,000
-I=SXNEH &€ &&= S0
500,000 «1CH*4 2,000
206 T2 Hl 3,000 3,000 0
01 X2 H| 3,000 3,000 0
OO Xl HY| X 100, 000 x10= x33] 3,000
TR HSX BBB(2 35,940 15,000 20,940
& 10,782
Al 25,158
101 21 214| 32,100 0 32,100
& 10,782
Al 21,318
04 JI2tHI22XNSE S 32,100 0 32,100
OostzdEgIIsUH=dE 32,100
-0l d| 47 5003 x2H x252 x 128 28,500
= 10,782
Al 17,718
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ghels = 2e (el &™)
SA - BB B () - MM - BES Ol &t o San HmEET
A2 JI22E3 150,000& »2H 122 3,600
206 = Hl 3,840 0 3,840
01 MHZ 4l 3,840 0 3,840
OgZEEIISUH2E MEHl
160,000& »2H 122 3,840
SAMMERSXATLE(BEX) 2,359,900 201,160 2,158,740
= 1,160,000
< 348,000
Al 851,900
401 AIEHI L 201 2,359,900 201,160 2,158,740
= 1,160,000
< 348,000
Al 851,900
01 A& HI 2,320,000 200,000 2,120,000
Og4t dER==X ZdAS
2,320,000,000& » 14 2,320,000
= 1,160,000
= 348,000
Al 812,000
02 2eltl 34,400 0 34,400
Og4t MER==X Z&AY Zeldl
34,400,000 * 14! 34,400
03 Al 20 HI 5,500 1,160 4,340
Ogdh MEIRSR ZHAY A0
5,500,000& =14 5,500
HOIZ2 K& 3 249,611 20,460 229,151
= 86,800
< 40,320
Al 122,491
HOIE 2tel 34,242 14,460 19,782
201 Let24E] 29,202 10, 140 19,062
01 At 22l 29,202 10, 140 19,062
O1.4et=&Hl 24,942
-HolI22el JIE =3t 3,000, 000& 3,000
“HOIE2 MESHH SA =2
100, 000& *3H x4 2 1,200
HEE BES BAE2E
678,000 *3IH 2 *43] 8,136
HEEZES st BAL+E
247,000 9 2 *23] 4,446
HEFFEH EYQAT AALSE
350,000& 6K 2 *23] 4,200
OHREES o AANLLE
60,0003 47 A *43] 960
-HEEUW HIISAZE BA===E
500, 000& *3IH 2 *23] 3,000
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SA - BB B () - MM - BES Ol &t o San HmEET
O4.1l =t 690
“HII2E AN NEHH 690
Y= 130,000 »3H 390
== 100,000& »3H 300
O5.2&H 2,520
-AEEt2e] SR 0A2ZEN A
7,000 *3H 10«12 2,520
O6. 21z 1,050
-9X ¥ SYHIIS MelFEd X
350,000 1CH*3 1,050
202 O4dl 5,040 4,320 720
01 =S LHA YI 5,040 4,320 720
OXt&stztel 2=
60,0003 *3H +x3 +63] 3,240
OMgxsZrdd F&(2 483)MF &£ 3
A2l o4 HI 60,0003 x2H +x32 +53] 1,800
SHOEHANA (2 E) 215,369 6,000 209,369
= 86,800
< 40,320
Al 88,249
101 121 4] 23,369 0 23,369
= 10,000
Al 13,369
04 JIZHHZ2XNHESE =+ 23,369 0 23,369
OsdOIEASZS AHEIXZ A 21 2AH|
38,8803 «6H x90! 20,996
= 10,000
Al 10,996
C4liEd JI2RES 20,996,000 *11.3% 2,373
402 RI2EX=20l A 192,000 6,000 186,000
= 76,800
= 40,320
Al 74,880
02 RI2HCH & AFH HI 192,000 6,000 186,000
OZdioIE HelX&tl 2,400,000& *80= 192,000
= 76,800
< 40,320
Al 74,880
SSE Y 2el 161,378 237,473 276,095
< 30,000
Al 131,378
orst2 SssdEd =4 61,378 237,473 A 176,095
201 YEr2 Y| 1,000 2,000 A1,000
01 At 22l 1,000 2,000 A 1,000
O1.4et=&Hl 1,000
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AU AX HeX 2l 1,000,000 1,000
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01 A& Bl 60,000 235,000 A 175,000
OdX - HALYMRAX & SX L HA
20,000,000 *30H 2~ 60,000
03 Al 2 THHI 378 473 A 95
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SEIEA HEMY(EX) 100,000 0 100,000
= 30,000
Al 70,000
401 AIEHI L 201 100,000 0 100,000
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Al 70,000
01 A& HI 100,000 0 100,000
Osolol S22 TEHEL HEBA
100,000,000& * 14 100,000
< 30,000
Al 70,000
MEHA sMdH I8 25 307,992 370,980 A 62,988
= 111,000
< 58,000
Al 138,992
SAMLTE FEOfE 2 FX 67,992 90,980 A 22,988
101 14l 6,492 0 6,492
4 D12t Z2REES 6,492 0 6,492
OBEAZQEN HLUHA 6,492
-4 H| 38,8803 x 1«75 *23] 5,832
-AHEE JI2RE3 5,832,000& %11.3% 660
201 Let24d] 32,100 40,560 A 8,460
01 At 2teltl 32,100 40,560 A 8,460
O1.det=2Hl 21,600
“MEA SMEE dBt=EHI 6,000,000 6,000
-EAZOIEN JtY EEE S
400& »3&+3,0005 3,600
—2ANAE0I EEE M
500& x2&*2,0005 2,000
-SEXle ¢ EE2=E MAH S
50,000& *60IH 2 3,000
-OUS0IEANE HdUSBIIE EE22 HMH
5,000& *2& x200= 2,000
-X2o ¢ I8N BEESE S
50,0002 60 2 3,000
-—SAMHEAY A= R 2e2l 2,000,000 2,000
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SRl MEA SMST B E (B9 ®R)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
O3.2d=¢ 6,300
SHEA SMEFAL 5o BAL
70,0003 «30&H 323 6,300
O5.2&Hl 4,200
S LEER-EES =N
7,0003 x5 «10L 128 4,200
202 O4dl 7,200 7,020 180
01 =L 4 Hi 7,200 7,020 180
O=M8Zd 42EX ol
60,0003 *5H x4 63 7,200
206 M= Hl 5,000 0 5,000
01 =8l 5,000 0 5,000
O=MIHEMNY H2RY(Y24E S)
5,000,000& 5,000
301 gt 4= 17,200 33,400 A 16,200
10 ALAHIEAZ 17,200 33,400 A 16,200
OMEIA =MHTRAS HTK 280fH
60,0003 «20H 13| 1,200
Odeld gstl 10,000 x40 »43| «10& 16,000
IIZHIEAUS(EX) 240,000 280,000 A 40,000
= 111,000
< 58,000
Al 71,000
301 L2 A Z 200,000 220,000 A 20,000
= 100,000
< 50,000
Al 50,000
12 JIEtE4 3 200,000 220,000 220,000
OEAZOEN HEHA AMEE X2
200,000, 000& 200,000
= 100,000
< 50,000
Al 50,000
307 glz2+ol & 40,000 0 40,000
= 11,000
< 8,000
Al 21,000
02 QIZtF A8 X 40,000 0 40,000
O AEE &2d E2MY &
20,000, 000& 20,000
= 6,000
< 3,000
Al 11,000
OZEAl JI=8stuwsdEH XI& 20,000,000 20,000
= 5,000
< 5,000
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SN HEAMD
Fu: golegel (BF2S5/00)
S o2l AY (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
HdIIRsS 300, 0003 «4I4 A 12 14,400
HEIE MEZ 50,0003 *43| & «12& 2,400
-iolgsd A 24,000
I3 200,000 *5I4 A 12 12,000
HE3H MAEZF 200,000 «53 & +128 12,000
-UJIE=EdA MlBEEZ (34 30,2
600,000 *5IH 2 3,000
OS8. A€ &I Xl 4,600
—ESZ2HAE FH =& 1,000,000 *104 & 1,000
-tolegE=&dEdl =2 1,500,000& 135 1,500
-3 ZE KX 300,000 *20H 2 600
-toleg =832 |A 300, 000& *5I4 £ 1,500
207 Ao 5,000 0 5,000
02 & AR I 5,000 0 5,000
OMAIZ LOISHAZ QB HA A2E 7
5 5,000,000 5,000
401 Al BIZ 201 8I 112,500 132,000 A 19,500
01 A& HI 112,500 132,000 219,500
ogzdzE 17X 22 15,000, 000& *2H 2 30,000
OIIEEEA | 22
16,500, 000& *5H A 82,500
Holetd 2g& 2el 549,262 260, 842 288,420
101 1A Hl 96,002 90,659 5,343
04 JIZHHZ2XNESE S+ 96,002 90,659 5,343
OQIzterZXZ0l 29 el
38,8803 x10H 220 85,536
OAEE J|122E =3 85,536,000& *11.3% 9,666
ogdXZd0l gs= +2 60,0002 »10H 600
oszXZdo 82X 7 20,0002 10X 200
201 L2l 92,326 102,250 AN9,924
01 At 2t 2l 87,450 99,750 A 12,300
O1.det=2Hl 26,100
-Ciolatel J1Ers=&4l 4,000,000& 4,000
-obH Y Ooj2td QIRAOY MZE RUEE
g4 =3 130,000& *703] 9,100
“UFHANT ZEE 2 30,0002 1004 3,000
-tolA28 = EH 2¢ 2235 722
100,000 *5& *23| 1,000
-HoIEEXN 222 S M
500& x2& *1,0000H 1,000
-Ho128 e dM =2
400,000& =10 23] 8,000
O4. 1=l 1,150
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chels thol2el At (=& J)
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SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
-2 H= 130,000& »5H 650
-2 Ml 3t 100,000& 5H 500
O5.2 &l 4,200
-tHo18t8 L2RFZ U2 2R =4
7,000 5«10«12 4,200
O6.2xt=z 56,000
-2USE DNER A8 =X X
8,000,000& +7J4 & 56,000
02 3322l 4,876 2,500 2,376
O1.2223LHA 2,376
~R0IMHTE)| SMQ3
12,000 x4 2 +12& 576
-AFHUHE X DMEEX 22 SXOHAIX &S
15& 40021 *3002] 1,800
O3. A& &Hl = Al 2,500
-tolA8 s3EH =l 500,000 x5& 2,500
202 oddl 7,200 6,000 1,200
01 = LH o4 1l 7,200 6,000 1,200
OUIl & AdHFHAIZE HAAZ Kbl
60,0003 x1H x2 U 153 1,800
Ooo2eld F&0u|
60,0003 *5H 3 63 5,400
301 L2 A S 7,222 11,933 A4 T
09 BAUAZRRABHS 3,962 7,833 A3,871
O3dZERE 3,962
-Jlg=s 97,5003 «1H 128 1,170
-S A 7,000 3 < 1H«222 x 128 1,848
nE=g:] 2,4003 x1H+22U 128 634
-0l =4 140,000 *1H »23] 280
-C 9 g=s&Edl 15,0003 x 1H +2 30
10 #AtAHIE A3 1,260 2,100 A 840
OHHBATUEAANE 34
7,000& «70H #23] 980
ORIZSAT 0| X2D] ZA
7,000 «10Y 43 280
12243 2,000 2,000 0
Oostd2g &l 243 50,000& »40AH 2,000
401 A& BIZ 2018 301,512 0 301,512
01 A& HI 300,000 0 300,000
OBLXY AHS L YRNYE ALY 75
300,000,000& 14 300,000
03 A& =TI 1,512 0 1,512
OT_C}IlOd OI—_HO;”I:’ E_(l D‘_{Ilj:l\zl AI/\E{I ;12;5
| & 2 CHHl 300,000,000 *0.72/100%70%<& 2+> 1,512
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